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75 AEEHME

ZE |[f5 (BEH (=4 = ERS A1 A2

mm mm mm mm m2
SSD 101 1|EBRE3 2 2,078 3,190 13, 257, 640 13.26
AD 101 1|ZBEMEKR—IL 1 14, 221 3,190 45,364, 990 45. 36
AD 102 1| ABRE] 1 2, 630 3,190 8, 389, 700 8.39
AD 103 1|ABRE2 1 2,630 3,190 8, 389, 700 8.39
WD 101 1EEE 1 0 0.00
WD 102 13 A 1 0 0.00
WD 201 2 A 1 0 0.00
WD 301 3[HA 1 0 0.00
WD 401 NEEDN 1 0 0.00
KW 101 1|ERE?2 1 0 0.00
KW 102 [ EiES 1 0 0.00
KW 201 AEELRES £ 1 45, 364 2,700 122,482, 800 122.48
KW 202 AETE R 3 0 0.00
KW 203 AEELRES £ 5 0 0.00
KW 204 AEERES 1 0 0.00
KW 301 3l =2 1 5,159 2,700 13,929, 300 13.93
KW 302 3[AIZE1-ERT5 2 0 0.00
KW 401 Al =1 1 0 0.00
KW 501 5|RIZE-ERF2,5 3 0 0.00
TP 301 3|IEE1 C2REERT1) 2 0 0.00
AW 101 [HEYES 1 53,315 2,235 119, 159, 025 119.16
AW 102 1BEEE 1 0 0.00
AW 103 1[FEER2 1 0 0.00
AW 201 AEYES 1 64, 160 2,235 143, 397, 600 143. 40
AW 202 AETES 1 0 0.00
AW 203 2| B FNC- ZFWC 1 0 0.00
AW 204 2|BEER2 1 0 0.00
AW 301 JMBE - TEEEZ -KEMNEKEADE 1 96, 059 2,235 214,691, 865 214. 69
AW 302 3| B FWC- ZFWC 1 0 0.00
AW 303 JEFEKRE-FIE 1 0 0.00
AW 304 JEITHRE 1 2,890 1,630 4,710, 700 4.71
AW 305 R 1 2,224 1,630 3,625,120 3.63
AW 306 JIHRE 1 4,024 1,630 6, 559, 120 6.56
AW 307 3|BEERT-2 2 0 0.00
AW 401 P HBE-EEE-BEEEEE 1 160, 685, 400] 160, 685, 400 160. 69
AW 402 4] B FNC- ZFWC 1 0 0.00
AW 403 ABFERE-E 1 0 0.00
AW 404 4|EEF2-3:5 8 0 0.00
AW 405 4|ER T3 2 0 0.00
AW 406 4|FEERT-2 2 0 0.00
AW 501 HI L ERBRESF - UEES - EE] 1 179, 006, 845] 179, 006, 845 179. 01
AW 502 5] 8 FNC- ZFWC 1
AW 503 HE = 18 1,965 480 16, 977, 600 16. 98
AW 504 5|ER T2 1 1,965 2,280 4,480, 200 4.48
AW 505 5(FEERT-2 2 0 0.00
AW RO1 [RIF  |¥RiR2 1 0 0.00
AW RO2 [R1IF  |Weik2 1 0 0.00
AW RO3 |RIF  |EHLE 1 0 0.00
ACW 101 1RRE] 1 23,474 3,115 73,121,510 73.12
ACW 102 1|BRT1-ERE2 1 18, 491 3,115 57,599, 465 57. 60
ACW 201 2| T3 1 0 0.00
ACW 202 2| F1 1 0 0.00
ACW 203 0ZEMREEI~6 6 220 5,695 7,517, 400 71.52
ACW 204 1ZBMEEEI~6 6 520 5, 695 17, 768, 400 17.77
ACW 205 0ZEMREEI~6 6 820 5,695 28,019, 400 28.02
ACW 206 AEEISES B3 1 800 5, 695 4,556, 000 4.56
ACW 207 0ZEMREEI~6 6 818 5,695 217,951, 060 217.95
ACW 401 4~5|weiR2 1 5, 880 6, 137 36, 085, 560 36. 09
AG 101 NEREE 1 0 0.00
SG 102 XS 2 0 0.00
AG 201 ZFEKRE 1 0 0.00
SG 202 XS 2 0 0.00
AG 301 RETES 1 0 0.00
AG 302 [EHE 1 0 0.00
SG 303 REEEES 2 0 0.00
AG 401 A|EBEEE 2 0 0.00
SG 402 A3FEE 2 0 0.00
SW 101 132 1 0 0.00
SW 201 2|EViR—)L 2 0 0.00
SW 301 3|EViR—IL 2 0 0.00
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75 AEEHME

ZE |[f5 (BEH (=4 = ERS A1 A2
mm mm mm mm m2
SW 302 SIPEEEL-2 2 0 0.00
SW 401 4| ik2 2 0 0.00
SW 402 A|EBEE 1 0 0.00
SW 403 4{EViR—JL 2 0 0.00
SW 404 A2E 2 0 0.00
SW 501 5|Mik2 2 0 0.00
SW 502 HERES 1 0 0.00
SW 503 S[EViR—IJL 2 0 0.00
SSW 101 1123—%7—X 1 4,192 2,100 8, 803, 200 8.80
SSW 102 AKR=E2 3 —~7—X 1 5,378 3,200 17,209, 600 17.21
SSW 103 1J[EVS v T + 1 26, 352, 000] 26, 352, 000 26. 35
SH 101 1|ZBWk—IL 2 0 0.00
SH 102 11ZBiAR—IL 1 0 0.00
SH 103 11Z B#AkR—IL 1 0 0.00
SH 104 11ZEAR—IL 1 0 0.00
SSH 101 [ICEd=F 1 0 0.00
SH 201 2|ERF5-ERR6-ER R/ 1 0 0.00
SH 202 2|ER 6 1 0 0.00
SH 301 3[ERTF3,4,5 1 0 0.00
SD 312 S| BEERET 2 2 0 0.00
SD 414 AIBEEREL, 2 2 0 0.00
CSH 101 11ZEMAR—IL 1 0 0.00
)3 1,370. 11
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7w AEEEANAMRE

HAS
PREERR RSV
BT mE KHETyIRE L BV =FFETODI-20
miE miE
1 F  ZEKR—IL 150. 9 O 150. 9
1 F BLY - BT - BEEX 383.5 O 383.5
2 F =B - BT - B 332.3 O 332.3
3F ERAY BT - B 257.9 O 257.9
4 F EEY - BT - B 269. 4 O 269. 4
5F By - BT - BE 336.9 O 336.9
1F kAL 64.0 O 64.0
2F krAL 64.0 O 64.0
3 F kAL 64.0 O 64.0
4F FAL 64.0 O 64.0
5F kAL 64.0 O 64.0
Y1 2,050.8 470. 9 1,579.9
ERES
REER I ESEIVIE=
BT miE KETyHAEE BV FEETODI-20)
miE miE
1 F HERE1 7.1 O 7.1
1 F HERZE2 7.1 O 7.1
1 F HEXE3 7.1 O 7.1
1 F HEk =4 7.3 O 7.3
1 F #BIE 15.2 O 15.2
2 F HEXZE 1 7.1 O 7.1
2 F HEXE2 7.1 O 7.1
2 F HERZES 7.1 O 7.1
2 F HEXE=E4 7.1 O 7.1
2 F ZEMESEE 52.4 O 52.4
2 F ZENESEE 54.5 O 54.5
2 F ZEMSEE 54.5 O 54.5
2 F %EE’J%;%E 54.5 O 54.5
2 F ZEMESEE 52.0 O 52.0
2 F ZENSEE 61.9 O 61.9
2 F HERE 23.4 O 23.4
3 F  fEERE 7.1 O 7.1
3 F KEXREXREE 141.8 O 141.8
3 F HEE 48. 1 O 48. 1
3 F EImE=E 38.0 O 38.0
3 F  IhEE 38.0 O 38.0
4 F HEXE1 7.1 O 7.1
4 F BERZE2 7.1 O 7.1
5 F SERERE 233.9 O 233.9
b F IFREIERE 62.0 O 62.0
b F #ZeE= 106. 3 O 106. 3
5 F E% 258. 7 O 258. 7
b F #ZeE= 10. 1 O 10. 1
1F ¥M”%§
2 F iR
3 F  HE=E
4 F  #His=
b F  #$iE=E
Y2 1,383.2 0.0 1,383.2
Y1+2X2 3,433.9 470.9 2,963. 1
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